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Write all answers in your blue book. Show all of your work.

 

 

 

1. (a) (3pts) Define search unemployment.

(b) (3pts) Define wait unemployment. 

(c) (9pts) List and briefly describe the causes of wait unemployment which Gregory Mankiw cites in Macroeconomics.

 

 

2. (5pts) Consider a hypothetical economy. Suppose that the labor force, L, is fixed in size. Let E stand for the number of employed people and U stand for the number of unemployed people. Suppose that the monthly rate of job separation, s, and the monthly rate of job finding, f, are both constant. Prove that the natural rate of unemployment equals s/(s+f). 

 

 

3. (a) (5pts) Define the Classical Dichotomy. 

(b) (10pts) List the assumptions of the Classical Quantity Theory (CQT).

(b) (10pts) Suppose that the CQT holds. Consider an economy in which the natural rate of output grows at 2.6% per year. If policy makers have price level stability as their goal, will they hold the money supply constant? Thoroughly explain.

 

 

4. Suppose Lisa makes a one-year loan to Bart at an annual nominal interest rate of 6.5%. 

(a) (5pts) If both people anticipate a 3.5% inflation rate over the year of the loan, what do they expect to be the annual real interest rate on the loan? 

(b) (5pts) Is it possible for the real interest rate on this loan to be negative? Explain.

(c) (5pts) Is it possible for the real interest rate on this loan to be more than 6.5%? Explain.

 

 

5. (a) (5pts) Define the Federal Funds Rate. 

(b) (3pts) What is the current Federal Funds Rate?

(c) (2pts) Is your answer to Part (b) a nominal interest rate or a real interest rate?

(d) (15pts) If the Federal Reserve wished to lower the Federal Funds Rate, what exactly would the Fed do? Thoroughly explain how and why the Fed's actions result in a lower Federal Funds Rate.

 

 

6. (15pts) One United States dollar currently buys 1.56 Canadian dollars. Suppose that over the course of the next 12 months, the US runs an inflation rate of 2.8%. Assume that Purchasing Power Parity holds. If one year from now the US dollar buys 1.60 Canadian dollars, what would the Canadian inflation rate be over the 12 months between now and then?

